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1. A circuit is shown in Fig. 1, determine (1) isand (2) the power of the
dependent current source. (20%)
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2. A circuit is shown in Fig.2, use Node-\Voltage-Method to calculate i, and the
power of the dependent voltage source. (20%)
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3. A circuit is shown in Fig.3, the switch S has been in position b for

a long time. At t=0, S is moved to position a. Find (1) v.(t) t>0 -
(2) ve(t)=0, t=? (20%)
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Fig. 3

4. The voltage and current functions of an electrical load are as follows :
v=110\2cos(377t) V  i= 10N2sin(377t+37°) A

Calculate average power (P), reactive power (Q), apparent power (S),
and power factor (PF) of the load. (20%)

5. A circuit is shown in Fig.4, find (1) the transfer function (V./Vi),
(2) the output steady-state response (vo(t)) as w=10M rad/s. (20%)
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